SAH: BAS
=2 g MHIA HB(E
A-2A2NE &E

X{ ZH -
S = -

-

=
ol -
BT"- _bll_g

N =

41t
/2249 8)

O & AP & & A

A

_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
SA 40 37,046,262 41,796,911 A4,750,649
= 7,932,492
| 17,557,013
&2 93,000
= 11,463,757
HB=2 2EAMUA HNB(BH/BEAHAR) 36,782,581 41,566,002 AN4,783,421
= 7,848,828
Il 17,554,613
= 93,000
L= 11,286,140
22 - =2A4 &5 12,157,934 19,502,150 AT,344,216
= 6,758,065
Il 74,980
= 18,000
& 5,306,889
A 3M 28 Y FA 51,880 53,690 A1,810
201 Let2IH| 11,000 15,000 24,000
01 AtE22/Hl 11,000 15,000 24,000
SHAMYAI 2HAEILMA MA 5,000
OXM dzus =3 6,000
202 O4Hl 32,880 30,690 2,190
01 WY 20,000 16,200 3,800
OE2J12 AMEIE =8 &g =0l 10,000
orHIIZ =SRXE 10,000
03 2AHL0HYI 12,880 14,490 A 1,610
O 2d LR oA 12,880
203 HRF&H| 8,000 8,000 0
03 AMF=XHLFEH| 8,000 8,000 0
OEHAM AZFA 8,000
20|12 2o g0y 24 41,000 40,500 500
&2 18,000
= 23,000
201 et 36,000 33,000 3,000
=2 18,000
= 18,000
01 AtS 22l 36,000 33,000 3,000
OZB=EHYAN HRU= 30,000
= 15,000
= 15,000
OZ332HJ|& MBS 6,000
= 3,000
L= 3,000
308 XXl & XS0l 5,000 7,500 22,500
01 XM EXS 5,000 7,500 A 2,500




SN BARMD
X XH: X
o T

M= o 2AHA MB(2A/22A4202)
Chel: 224 - 92 AL &5 (&9 HM
SA - EH . O(EH) - NEAY - B 0ff &+ 08 Soe HRSZ
NEEECERE 5,000
Xgrojzel YR =& 537,000 18,000 519,000
201 g2 24,000 5,000 19,000
01 AtRZeld| 24,000 5,000 19,000
OYAXHIAAS 29 24,000
202 01| 13,000 13,000 0
01 =LHOIHI 13,000 13,000 0
oMY & & =X 6,000
OFINSHLA L 22X & 7,000
306 =12 500,000 0 500,000
01 s0i2 500,000 0 500,000
OXgo|Zd BBOZAY X2 500,000
Xgoleel AISRY 22(=20) 365,000 0 365,000
= 365,000
306 =012 365,000 0 365,000
= 365,000
01 s0i2 365,000 0 365,000
oxgoae o2y B 365,000
= 365,000
SOER2A S 0|HAS(2D) 5,195,084 8,329,260 ~3,134,176
= 4,156,065
= 1,039,019
403 XXISHIS K20l & 5,195,084 8,329,260 ~3,134,176
= 4,156,065
= 1,039,019
01 UXSHMR=LE 5,195,084 8,329,260 ~3,134,176
Os0lZ& 22 MHIA W X 5,195,084
= 4,156,065
[ 1,039,019
Holge A (=21) 2,000,000 4,000,000 A2,000,000
= 2,000,000
402 2IHRH=0IH 2,000,000 4,000,000 A2,000,000
= 2,000,000
01 DIAX=2EX 2,000,000 4,000,000 A2,000,000
oofzlolE AE 2,000,000
= 2,000,000
ZFANY AL A (2D) 112,470 0 112,470
| 74,980
= 37,490
403 XX SHHSKH=0l& 112,470 0 112,470
p] 74,980
[ 37,490




D EAA A
PN

=2 2 ANHIA MS(22d/2249
2

I

=
D EA -9 2AME EE

M= a2(33) - HEAY - BAS o e H RS2
01 AXIEMA2EX 112,470 0 112,470
o9z &Hl XA 112,470
| 74,980
& 37,490
St SSXAAE A48 (=21) 355,500 300,300 55,200
= 237,000
& 118,500
403 X XISHMSAHE201H 355,500 300,300 55,200
= 237,000
& 118,500
01 MXIESMA2EX 355,500 300,300 55,200
Ot FSKAALE XX 355,500
= 237,000
& 118,500
SLCNM=ERA HE 3,500,000 4,400,000 A 900,000
401 AIEHIZ 20 3,500,000 4,400,000 A 900,000
01 Al&H| 3,500,000 4,052,000 A552,000
OTELNMEYEA AHY 3,500,000
SAZAHAH 2= 4,397,791 2,939,679 1,458,112
| 3,660,331
& 737,460
s S=2A=ZHME 22l 17,000 20,000 A 3,000
202 4| 12,000 12,000 0
01 =LA b 12,000 12,000 0
CEE P - 4.000
OFE 2% J%E SEUZ 4,000
OoAF BIAXcel 4,000
307 QI2t01A 5,000 8,000 A 3,000
02 QB AEXR 5,000 8,000 A 3,000
OllsES=2d=NE 2l N& 5,000
RESAAUE 22| 3,000 0 3,000
206 =4l 3,000 0 3,000
01 =zl 3,000 0 3,000
OYUE S i+ 3,000
JrersY ol (=2) 12,773 45,773 A 33,000
| 12,773
202 O4dl 1,000 1,000 0
| 1,000
01 =LA bI 1,000 1,000 0
O&HNEIJER HEYE 2Al 1,000
| 1,000




SN BAM D

Ha: WS ABNHIA NB(22/2AE)
fm §
=

=
@ SSASHAH 2= EEEEE]

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

307 2I2tol & 11,773 44,773 233,000
Il 11,773

02 It a2 x 11,773 44,773 233,000
OEHERET H=F& 2ZAl 11,773

p) 11,773

X ¥ S=HMX us(20) 20,000 16,000 4,000

10,000
10,000

<

201 B2 7,000 7,000 0

3,500
3,500

mn >

01 AR ]| 7,000 7,000 0
O+ ¥ SSHX W= 7,000

3,500
3,500

LS!

202 Oddl 5,500 1,500 4,000

2,750
2,750

<

01 =LHOYI 5,500 1,500 4,000
O+x & SESXMX U= 5,500

2,750
2,750

>

301 LEtEHS 7,500 7,500 0

3,750
3,750

<

= 7,500 7,500 0
SHI W= 7,500

3,750
3,750

<

S22 FEHH 22 X (21) 1,414,920 1,139,406 275,514
707,460
707,460

LES!

307 21z2tol A 1,414,920 1,139,406 275,514

707,460
707,460

LS!

02 It aEx 1,414,920 1,139,406 275,514
FEdH 29 1,414,920

707,460
707,460
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SN AP M
By =2 OB AHIA MB(22A/22A02)
B9l =3

J2HH P= G
S ED .S (B0) - NRAY - BAS 0f o o4 e HDS2

| 5] 1,360,000

Fotxd 239272 S4(27) 735,000 438,500 296,500
ol 735,000

308 XHXICHHIS O ® 735,000 340,000 395,000
ol 735,000

01 HXSABASED 735,000 340,000 395,000
OF %X SZOBHE 2L 395,000
ol 395,000
0K SR B SYK 2 340,000
ol 340,000

2Q O E XY 31,004 0 31,004
ol 31,004

308 XHXISHHSOIF 5,912 0 15,912
ol 15,912

01 HXSHBASED 5,912 0 15,912
OXSES WHHRES2Y 29 15,912
ol 15,912

403 REXISHS K20 H 15,002 0 15,002
ol 15,002

0 XM= 15,002 0 15,002
0229272 TRSAIAE 1= 15,002
ol 15,002

=Zola MRSHAH 2E(2D) 365,834 300,000 65,834
ol 365,834

307 012+0| H 365,834 300,000 65,834
ol 365,834

02 SIHFABE 365,834 300,000 65,834
O=ZSZE M2 2HH 7= 365,834
ol 365,834

NeiaLs2 22N HH 75 438,260 300,000 138,260
ol 438,260

307 12+0| ® 438,260 300,000 138,260
ol 438,260

02 BINFAEE 438,260 300,000 138, 260
OALEE MNSXBHME 2L 2 438,260
ol 438,260

28 o20/5 M2 12,072,868 10,988,701 1,084,167
= 913,853
ol 8,042,797
= 75,000
= 3,041,218

HAPAY Z7 11,000 20,000 ~9,000

201 et oy 3,000 12,000 ~9,000




S EASIMD}
M H=2 2 AHlA Ms(BEH/BHAZ)
@2l S8 A=013 HS (9 E2
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- co=m s IR ° . (= (=3 =5 0:”/|l|,% Lsa
01 AFR22lH| 3,000 12,000 A9,000
OFUMNEHAAXNAE 2 3,000
202 ¢4 H| 8,000 8,000 0
01 =Wl 8,000 8,000 0
OMASE dEAY =& 4,000
AR WEAHLBR| AAZT 4,000
4o 2 7,000 5,000 2,000
201 LBt 7,000 5,000 2,000
01 AFR 22| 3,000 1,400 1,600
OR4o7 29 3,000
02 232ZH| 4,000 3,600 400
o= & Mg 74 4,000
DS 43t 20,000 26,000 26,000
307 212t01& 16,000 20,000 A4,000
02 QI2ZtBAE X 16,000 20,000 A 4,000
o9 dM3t 2Y 16,000
308 XX HHSO0IA 4,000 0 4,000
01 MAXEMBLEXS 4,000 0 4,000
O&IIDIESA A= XA 4,000
LR+20 d2Us K& 8,000 10,000 A 2,000
307 212t01& 8,000 10,000 A 2,000
04 CIZFHALE X 8,000 10,000 A2,000
O2R+S0t AUzl X& 8,000
S HI A OHEHAL 2l 2 H| 375,000 495,322 A 120,322
308 AXIHMSOIA 375,000 495,322 AN 120,322
01 HXSMBLEXS 375,000 495,322 N 120,322
OTILE X 2=l 310,000
O& H 2 &l 65,000
HasE dEAME XA 180,000 210,000 230,000
308 MXIHMSOIA 180,000 210,000 A 30,000
01 MAXEHMBLEXS 180,000 210,000 A 30,000
ogaddEs Ha 40,000
os=t3s &8 40,000
osuZs A& 40,000
oxdgusdzEE HA 60,000
STMESZE 92| 10,000 12,000 A2,000
307 QI2tol& 10,000 12,000 A2,000
02 QI2ZtABAE X 10,000 12,000 A 2,000




SN
X XH .
S Tt

el

P e 0t
2 AZANHIA MS(EH/2222)
st 92013 M=

N "EH .o (5 HEAS . HH 2 Al OH HEE =}
_l'o—u'n_‘r|(2|j:”)' '“—l— I'I:J';O—i =5 0:”/&,% ==
oM ExAs o ZH| XA 10,000
HOLERE 2tS ALY XT3 43,000 70,500 A27,500
308 AUXIHHMSOIA 43,000 70,500 A27,500
01 MXEHMBLEXS 43,000 70,500 A27,500
OTHOLEH AL 2tS At 43,000
ZEEA=SAAMNE F& 148,600 247,000 A 98,400
202 (48| 5,600 0 5,600
01 =LHAbI 5,600 0 5,600
o= & IHFEFAAMYE =& 5,600
307 212t01& 83,000 108,000 A 25,000
02 QIZtBAE X 83,000 108,000 A 25,000
OJ=EEHEXN XN 83,000
402 212t XH=01A 60,000 139,000 AT79,000
01 SIAXGEEX 60,000 139,000 AT79,000
OZTEH B2 (ALAIZ) 60,000
AXMSeY 22 5,760 24,360 A 18,600
308 AUXIHMSOIA 5,760 24,360 A 18,600
01 IXNSMBLNEES 5,760 24,360 A 18,600
OXIHE A A2e| At 5,760
Lorzdae(=21) 484,495 70,034 414,461
| 403,746
= 80,749
308 AXIHMSOIA 484,495 70,034 414,461
| 403,746
= 80,749
01 AXSMBAEES 484,495 70,034 414,461
OXIOf =J1&& 60,983
J| 50,819
& 10, 164
OXIMHAHE S K& 369,404
| 307,837
& 61,567
OXIOH At 2tel XI& 54,108
| 45,090
& 9,018
ASEN 2S5 (=1) 6,000 6,000 0
= 3,000
& 3,000
301 EtBA = 6,000 6,000 0
= 3,000
& 3,000
01 AISIEEE =63 6,000 6,000 0




SH: BAS MY
i IE2 JRAUIA HMB(22/22A02)
o9l: @Sst 22018l M3 (25l &2
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
ODIARESK 225 6,000
= 3,000
= 3,000
452 2A5E XF(21) 0,300 290,300 280,000
] 10,300
308 KHXISHHI SO & 10,300 10,300 0
] 10,300
01 RXESHBABES 10,300 10,300 0
0452 2455 %EY| 10,300
| 10,300
LAYV (D) 1,086,252 757,529 298,723
| 891,310
= 164,942
308 XHXIEHH SOIH 1,086,252 757,529 298,723
| 891,310
= 164,942
01 RXESHBAZEZ 1,086,252 757,509 298,723
ool oA BH 989,652
| 824,710
= 164,942
OLQUSACE - AHLY 30,550
| 30,550
OoAXZH AZ2E 18,050
| 18,050
OTLEBHME FOHOIAY 10,000
| 10,000
OS45tD F0H0tS 8,000
| 8,000
AME U R0 FABHAAMY(2D) 1,438,516 1,449,500 £10,984
| 1,198,763
= 239,753
308 XHXISHH SO & 1,438,516 1,449,500 £10,984
| 1,198,763
= 239,753
01 MXSHBARES 1,438,516 1,449,500 £10,984
OYAE o AR0F FABHA 1,438,516
| 1,198,763
= 239,753
OIS EAE BAPEAALY XA(2D) 60,000 65,000 25,000
| 50,000
= 0,000
308 XX EHHISOI & 60,000 65,000 25,000
| 50,000
= 10,000
01 RXSHBABES 60,000 65,000 5,000




EA: EAAMD
H: H=2 O ZAHA HZB2(BAH/EHZ)
o9l RS 92I|8 M2 (9l &2
SA BB .S (BH) - MBEAY - B2 0fl Ak 04 gggf; SmE=L
O0ts - 3448 HAMBAHAIY XA 60,000
J| 50,000
== 10,000
HAMBHEAEH 29 (249d) 768,500 0 768,500
J| 384,250
& 384,250
307 212t0|A 768,500 0 768,500
Dl 384,250
= 384,250
05 QIZHREZ 768,500 0 768,500
O&Y9Y HAMBAHHEH 29 768,500
J| 384,250
== 384,250
HABAHAEH 29 A& 648, 120 495,625 152,495
J| 540,100
& 108,020
308 MXIEHHSOIH 648,120 495,625 152,495
J| 540,100
& 108,020
01 AXEMBIMNBEEZ 648, 120 495,625 152,495
OEZ=E HABAHHEH 2H XA 648, 120
J| 540,100
= 108,020
HAMBHAH 29 I (0I2Y) 104,000 144,000 A 40,000
308 XMXIESHHSOIN 104,000 144,000 A 40,000
01 AXESMMIAMNEEZ 104,000 144,000 A40,000
O&Eol™ olAH| 65,000
oAtz ) 2 13,000
OEMd3 T2 29 26,000
HABAHAE &= 5,000 0 5,000
= 5,000
403 XXISHSA=201A 5,000 0 5,000
= 5,000
01 AXESHA=2EER 5,000 0 5,000
OALNBAHAIL &= 5,000
= 5,000
APD A2 22|(=21D) 1,051,026 386,989 664,037
J| 875,856
== 175,170
308 MXSHHSOIN 1,051,026 386,989 664,037
J| 875,856
= 175,170
01 MXSHAHBNEZS 1,051,026 386,989 664,037
oHdRLE XA 909,670




SH: BAS MY
i IE2 JRAUIA HMB(22/22A02)
o9l: @Sst 22018l M3 (25l &2
_ _ _ Muo
SN-EHH S (3H) - HEAY - BES 0ff &+ o4 il i~ o Hnz2
] 758, 058
= 151,612
OYLE - Ot AU 2 129,356
o] 107,798
= 21,558
©ItII0lE AHLST K& 12,000
| 10,000
= 2,000
A - AMOF £20| KE(2D) 877,131 848,024 29,107
= 835,853
= 41,278
307 QI2H0IH 10,295 10,599 £304
= 0,295
02 BIHFAEE 0,295 10,599 £304
OER0l AnS 10,295
= 10,295
308 XHXIEHH SOl A 866,836 837,425 29,411
= 825,558
= 41,278
01 RXNSHBABES 866,836 837,425 29,411
O - AMOF T20| X 866,836
= 825,558
= 41,278
et o 2Hl XB(2D) 1,268,079 1,375,662 ~107,583
| 1,086,732
= 211,347
308 XHXIEHH SOl A 1,268,079 1,375,662 ~107,583
| 1,086,732
= 211,347
01 RXNSHBABES 1,268,079 1,375,662 ~107,583
TR 1,268,079
| 1,086,732
= 211,347
o XIATA (2D) 1,112,084 1,208,473 £91,389
| 926,736
= 185,348
308 XHXIEHH SOIH 1,112,084 1,208,473 £91,389
o] 926,736
= 185,348
01 RXSHBABES 1,112,084 1,208,473 £91,389
og FIAA 1,112,084
| 926,736
= 185,348
NASME 222 1B (2D) 160,000 160,000 0
| 80,000
= 80,000




SN AN
HM: He2 B MUA MB(2A/2AAR)
Cel: @SE 22015 MB EERL
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
307 RI2H0|H 160,000 160,000 0
p 80,000
= 80,000
02 SIFARE 160,000 160,000 0
OXAHE e 160,000
p 80,000
< 80,000
517 - XSRS o2 (21) 1,950,005 1,719,510 230,495
p 1,625,004
= 325,001
308 XHXlEHHISOIH 1,950,005 1,719,510 230,495
p 1,625,004
= 325,001
01 RAXESHBARES 1,950,005 1,719,510 230,495
08|17 - LXSREL o2t 1,950,005
p 1,625,004
= 325,001
ARQ2ER S AAHE AZMUIAXR(2D) 100,000 100,000 0
= 70,000
= 30,000
403 XHXISHHISAH2 0l & 100,000 100,000 0
= 70,000
< 30,000
02 B 2SO0l CHatCHa AL b 100,000 100,000 0
0YRA22N S 22X 100,000
= 70,000
= 30,000
TTEAYZI|Y BAAY X2 150,000 150,000 0
= 75,000
= 75,000
403 XHXIEHHISAH2 0l & 150,000 150,000 0
= 75,000
= 75,000
02 2| 2HS0llCHetCH e At b 150,000 150,000 0
OZZEAC2I|2 SAAY 150,000
= 75,000
= 75,000
AN LRAZZSAHA 15,000 20,000 5,000
307 2I2H0| & 15,000 20,000 5,000
02 BIZHPABE 15,000 20,000 5,000
OHAINO LAATSAUNY X 15,000
Foms sxpele ALEN 5,599,620 5,374,774 224,846
p 4,508,710
= 1,090,910
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2N
X XH: X
o T

=
chel: =

el
x
bl
-
i
ﬁ
for
2
>
el
=
R
iz
0x
I
2
[
2
=P
R
12
o
£l
0l%
IS

202 O 5,000 5,000 0

2,500
2,500

>

01 =LHAOYI 5,000 5,000 0

OXNES3t AZEHNA 5,000
2,500
2,500

<

307 2120l & 40,000 50,000 210,000

20,000
20,000

<

05 BIZtRAE = 40,000 50,000 A10,000
OAHISIANAX A 2 40,000

20,000
20,000

LES!

308 NXISHHMSO0IE 631,200 677,300 46,100

526,000
105,200

<

01 HXHHBLdEXS 631,200 677,300 246,100

OXSAEst ALHEHINL XIS 631,200
526,000
105,200

mn >

a3l 24(=21) 981,300 886,800 94,500

811,450
169,850

LS!

201 LEt=EH| 8,900 4,000 4,900

4,450
4,450

<

8,900 4,000 4,900

8,900

4,450
4,450

i
Mo
02

n X

202 O4Hl 10,000 4,000 6,000

5,000
5,000

LES!

01 WY 10,000 4,000 6,000

10,000

5,000
5,000

©

u
Q
My
o

C
H0
02

<

308 AXIEHHSOIA 962,400 878,800 83,600
802,000
160,400

mn >

01 XXl

o
=
o
0
H
¥
ol

962,400 878,800 83,600

962,400

802,000
160,400

©
o
5%
My
o
JC
H0
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=
o

LS!
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X XH: X
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=
chel: =

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

A0t A2HE XE(212) 36,625 38,192 1,567
) 36,625

308 AXISHSOIA 36,625 38,192 A1,567
p) 36,625

01 MXEHINELS 36,625 38,192 A1,567
OZROF AZHA 36,625
p) 36,625

SO0 AR OISR A222(212) 433,744 212,780 220,964

361,454
72,290

<

308 NXISHHMSOIE 433,744 212,780 220,964

361,454
72,290

<

= 433,744 212,780 220,964

OXHEUAIOI &S AL & E0t2tel 154,598
128,832
25,766
O0l=0t & 8484040t 2 =2H| 261,998
218,332
43,666
O/l MOF HHE XD 17,148
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